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Section Marks : 100

Enable Mark as Answered
Mark for Review and Clear Yes

Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 90320169

Question Shuffling Allowed : No

Question Number : 1 Question Id : 9032014604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a side of a cube is 6cm then find its volume?

Options :
212cm?

216cm*

108cm?

256cm?

Question Number : 2 Question Id : 9032014605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Find the next number in the series 8,16,32,647

Options :

112
1. %

128
2. %

144

. 160

Question Number : 3 Question Id : 9032014606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the average of 7,14,21,28

Options :
35

1. %



Question Number : 4 Question Id : 9032014607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is 34% of 1.2 kilometers?

Options :
40,800 cm

1.+

4.08,000 cm

4080 cm

408 cm

Question Number : 5 Question Id : 9032014608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

358.085 + 42.91 + 25.55 =7
Options :

- 425.425

425.565
2. #®



3 @ 426.545

426. 555
4. %

Question Number : 6 Question Id : 9032014609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find Missing number

102 12

54 18

Options:

30

1.¢

24

40
3. %

48

4, %



Question Number : 7 Question Id : 9032014610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two masses m and Mare are connected by a light string passing over a
smooth pulley. When set free m moves up by 1.4 metersin 2s .The ratiom/
M is:

Options :

1@ 13/15

15/13
2. #®

97

719

Question Number : 8 Question Id : 9032014611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If REASON is coded as 5 and BELIEVED as 7, then what is the code for
GOVERNMENT?

Options :

6

1. %



2. ®
9
3. ¢
10
4. =

Question Number : 9 Question Id : 9032014612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Introducing a man, a man said, “He is the only son of my mothers. “How is the
woman related to the man?

Options :

Mother

Aunt

Sister

Niece

Question Number : 10 Question Id : 9032014613 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Introducing a man, neeraj said, “His wife is the only daughter of my wife.
“How is neeraj related to that man?

Options :
Father

5 % Grandfather

Father-in-law
3. %

Son

Question Number : 11 Question Id : 9032014614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a code, CORNER is written as GSVRIV. How can CENTRAL be written in
that code?

Options :
DFOUSEBM

GIRXVEP

 GNFJKER
3. F



JNEFSBM

Question Number : 12 Question Id : 9032014615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Statements:
No giraffe is a leopard
All leopards are kangaroos
All kangaroos are wolfs
Conclusions: 1) all kangaroos can never be giraffe

2) All giraffes are definitely wolfs.

Options :

If only conclusions (1) follows
1. ¢
5 % If only conclusions (2) follows

. If either conclusions (1) or conclusions (2) follows
3 8

If both conclusions (1) and (2) follow
4, %

Question Number : 13 Question Id : 9032014616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If the English letters A to Z are written in a reverse order then what is the
fourth letter to the right of 12th letter from the left?

Options :

1.4 K

Question Number : 14 Question Id : 9032014617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pair of elements are chemically most similar?

Options :

Zr, Hf
1.9

Cr, Bi

Be, Rn

Br, Sn



Question Number : 15 Question Id : 9032014618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In periodic table electron affinity of oxygen atom is higher as compared to:
Options :

Fluorine

Chlorine

Sulphur

Carbon

Question Number : 16 Question Id : 9032014619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?

Options :

In unicellular organisms, growth &reproduction of mutually exclusive event

1. %



. Self-consciousness is the property of all living organisms

Metabolism is a defining feature of living organisms without exception
3. %

Reproduction is a definition feature of living organisms without exception

Question Number : 17 Question Id : 9032014620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which cells of connectivity tissue are also known as cart-wheel cells?

Options:

Adipose cells
1.¢

Mast cells

Plasma cells

Mesenchymal cells
4, %

Question Number : 18 Question Id : 9032014621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In which phase of mitosis, chromosomes lose their individuality?
Options :

1¢ Prophase

Metaphase

5 » Anaphase

Telophase
4. #

Question Number : 19 Question Id : 9032014622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which word does NOT belong with the others?
Options :

Index

Glossary

Chapter



Book

Question Number : 20 Question Id : 9032014623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which word is the odd man out?
Options :

Trivial

Unimportant

Important
3.¢

Insignificant

Question Number : 21 Question Id : 9032014624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word does NOT belong with the others?

Options :



Wing

1. %
Fin
2. %
Beak
3. %
Rudder
4. %

Question Number : 22 Question Id : 9032014625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which word is the odd man out?
Options :

Hate
1.9

Fondness

Liking

Attachment



Question Number : 23 Question Id : 9032014626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pick the odd man out?
Options :

Just

Fair

Equitable

Biased

Question Number : 24 Question Id : 9032014627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CUP ;LIP = BIRD -

Options :

. » GRASS

FOREST

BEAK



BUSH
4. %

Question Number : 25 Question Id : 9032014628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Paw : Cat :: Hoof : 7

Options :

Lamb

Horse

Elephant

Tiger

Question Number : 26 Question Id : 9032014629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Safe : Secure :: Protect :

Options:

1. #



Lock

Guard

Sure

Conserve

Question Number : 27 Question Id : 9032014630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Melt: Liquid :: Freeze :
Options :

lce

Solid

Condense

4 = Push

Question Number : 28 Question Id : 9032014631 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Parts: Strap :: Wolf :

Options :

Flow

Animal

Wood

Fox

Question Number : 29 Question Id : 9032014632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement; Medicine ‘P’ is a drug which is causing ripples in the medical field.
Assumptions: |. No other drug is causing ripples in the medical field.
II. Medicine ‘P’ is a great drug.

Options :

1 » [Ifonly assumption | is implicit.

If only assumption Il is implicit.
2. %



If either | or Il is implicit.

If neither | or Il is implicit.
4, &

Question Number : 30 Question Id : 9032014633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The ‘A’ state government has chalked out a plan for the underdeveloped ‘B’
district where 66% of the funds will be placed in the hands of a committee of
local representatives.

Courses of action:

. The ‘A’ state government should decide guidelines and norms for the functioning of
the committee.

|I. Other state government may follow similar plan if directed by the Central

government.

Options :

If only | follows
1. %

If only Il follows

2_ 4

- If either | or Il follows
If neither | nor |l follows

4, %

Question Number : 31 Question Id : 9032014634 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The car dealer found that there was a tremendous response for the new XYZ's
car booking with long queues of people complaining about the duration of
business hours and arrangements.

Courses of action:
|. People should make their arrangement of lunch and snacks while going for

car XYZ's booking and be ready to spend several hours.

|I. Arrangement should be made for more booking desks and increase

business hours to serve more people in less time.

Options:

If only | follows

If only Il follows

If either | or |l follows

If neither | nor Il follows

Question Number : 32 Question Id : 9032014635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. The ‘M’ state government has decided hence forth to award the road
construction contracts through open tenders only.
Courses of action:
. The ‘M’ state will not be able to get the work done swiftly as it will have to go
through tender and other procedures.
|I. Hence forth the quality of roads constructed may be far better.

Options :



If only | follows

> = Ifonly Il follows

5 « If either | orll follows

v If neither | nor [l follows

Question Number : 33 Question Id : 9032014636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Alert villagers nabbed a group of bandits armed with murderous weapons.
Course of action:

|. The villagers should be provided sophisticated weapons.

|l. The villagers should be rewarded for their courage and unity.

Options :

If only | follows

If only Il follows
2.

If either | or |l follows

If neither | nor Il follows
4, %



Question Number : 34 Question Id : 9032014637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| am facing East. Tumning to the right | go 20 m, then turning to the left | go
20 m and turning to the right | go 20 m, then again turning to the right | go 40
m and then again | go 40 m to the right. In which direction am | from my
original position?
Options :

North

West

South

East

4, =

Question Number : 35 Question Id : 9032014638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A river flows west to east and on the way turns left and goes in a semi-circle
round a hillock, and then turns left at right angles. In which direction in the
river finally flowing?

Options :

- West
1. %



East
2.

North

4« South

Question Number : 36 Question Id : 9032014639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Comprehension;

The desire to explore and experiment, so essential to the scientific
temperament, characterises America from its very beginning. But during its early
history, America's contributions to the sciences were negligible. America did not
have the social organisations, educational institutions, intellectual sophistication
needed for mature scientific research. There were few men in the American colonies
to compare with Europe’s men of science. A shortage of labour was an incentive to
invent yet the inventions in Colonial America were neither many nor important. A lack
of mechanical industry made America dependent upon handicrafts; yet colonial
craftmanship was fair inferior to that of Europe. The trouble was, Americans tended
to be “Jacks-of-all-trades”.

In early times America’s contributions to science were negligible because

Options :

America did not have the scientific temperament.
1. %

There were few men of science in the American Colonies.



America was not socially and academically well-organised
3.¢

Americans were ‘Jacks-of-all-trades”
4, ®

Question Number : 37 Question Id : 9032014640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Comprehension;

The desire to explore and experiment, so essential to the scientific
temperament, characterises America from its very beginning. But during its early
history, America's contributions to the sciences were negligible. America did not
have the social organisations, educational institutions, intellectual sophistication
needed for mature scientific research. There were few men in the American colonies
to compare with Europe’s men of science. A shortage of labour was an incentive to
invent yet the inventions in Colonial America were neither many nor important. A lack
of mechanical industry made America dependent upon handicrafts; yet colonial
craftmanship was fair inferior to that of Europe. The trouble was, Americans tended
to be “Jacks-of-all-trades”.

The connection between mechanised industry and cottage industry may be
stated as the following

Options :

, Mechanised industry adversely affects the growth of cottage industry
1. ¢

) Mechanised industry encourages cottage industry

Mechanised industry has no impact on the growth of cottage industry.
3. %



; Mechanised industry suffers when cottage industry grows.
4,

Question Number : 38 Question Id : 9032014641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Comprehension;

The desire to explore and experiment, so essential to the scientific
temperament, characterises America from its very beginning. But during its early
history, America's contributions to the sciences were negligible. America did not
have the social organisations, educational institutions, intellectual sophistication
needed for mature scientific research. There were few men in the American colonies
to compare with Europe’s men of science. A shortage of labour was an incentive to
invent yet the inventions in Colonial America were neither many nor important. A lack
of mechanical industry made America dependent upon handicrafts; yet colonial
craftmanship was fair inferior to that of Europe. The trouble was, Americans tended
to be “Jacks-of-all-trades”.

For the development of scientific temper what is essentially needed is a
strong desire to

Options :

. Industrialise the country
1.

Explore and experiment
2.

. Establish a well-organised network
3.

Excel



Question Number : 39 Question Id : 9032014642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Comprehension;

The desire to explore and experiment, so essential to the scientific
temperament, characterises America from its very beginning. But during its early
history, America's contributions to the sciences were negligible. America did not
have the social organisations, educational institutions, intellectual sophistication
needed for mature scientific research. There were few men in the American colonies
to compare with Europe’s men of science. A shortage of labour was an incentive to
invent yet the inventions in Colonial America were neither many nor important. A lack
of mechanical industry made America dependent upon handicrafts; yet colonial
craftmanship was fair inferior to that of Europe. The trouble was, Americans tended
to be “Jacks-of-all-trades’.

One major problem that stood in the way of America’s progress in the field
of scientific invention was

Options:
1 = Shortage of labour

Lack of institutional support for science
2. %

American tendency to become ‘Jacks -of-all-trades’
3. %

v Lack of mechanised industry

Question Number : 40 Question Id : 9032014643 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Comprehension:

The desire to explore and experiment, so essential to the scientific
temperament, characterises America from its very beginning. But during its early
history, America's contributions to the sciences were negligible. America did not
have the social organisations, educational institutions, intellectual sophistication
needed for mature scientific research. There were few men in the American colonies
to compare with Europe’s men of science. A shortage of labour was an incentive to
invent yet the inventions in Colonial America were neither many nor important. A lack
of mechanical industry made America dependent upon handicrafts; yet colonial
craftmanship was fair inferior to that of Europe. The trouble was, Americans tended
to be “Jacks-of-all-trades”.

The phrase of ‘Jacks-of-all-trades’ means persons
Options :
Who try to do almost everything

1. &

_ Who cannot do anything well

Who try to do almost everything and cannot do it well
3. %

Who try to do only a few things and do them well
4. ®

Question Number : 41 Question Id : 9032014644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Somebody is knocking the door.

Options :

At
1. ¢

Across

Through

With

Question Number : 42 Question Id : 9032014645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

She never listens her mother.

Options :

At

For



Question Number : 43 Question Id : 9032014646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
My friend shared his book me.

Options :

For
1.+

With

On

At

Question Number : 44 Question Id : 9032014647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sheela was in the river.

Options :

1. %



Depressed

Drowse
2_ w
Drowned
3. %
Drug
4. %

Question Number : 45 Question Id : 9032014648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The children came as animals.

Options:

Dressed
1.9

Makeup

Looked

Glitter



Question Number : 46 Question Id : 9032014649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If in consult your doctor.

Options :

Drought

Draft

Decline

Doubt

Question Number : 47 Question Id : 9032014650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chief Minister of Tamil Nadu is

Options :

Naveen Patna

, % Himant Biswa Sarma



Nitish Kumar

M. K. Stalin
4.

Question Number : 48 Question Id : 9032014651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Largest river of India
Options :

_— Ganga

Yamuna

Indus River

Bhramaputra

Question Number : 49 Question Id : 9032014652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Chief Minister of Kerala is

Options :



Balakrishnan

Himan Biswa Sarma

Nitish Kumar

Pinarayi Vijayan

Question Number : 50 Question Id : 9032014653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Longest river of the world

Options:

Nile

Amazon
2. %

Yellow river

Rio De La Plata



Question Number : 51 Question Id : 9032014654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the currency of Sri Lanka?
Options :

Rupee
1.4

Dollar

Denar

Dinar

Question Number : 52 Question Id : 9032014655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Where is the headquarters of DRDO?

Options :

Bengaluru

Hyderabad



New Delhi

Mumbai

Question Number : 53 Question Id : 9032014656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which state, Pin valley national park is situated?

Options:

Uttarakhand

Uttar Pradesh

Himachal Pradesh

Gujarat

Question Number : 54 Question Id : 9032014657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

President of Russia is



Options :

Xi Jinping

Joko Widodo

Arif Alvi

Vladimir Putin
4. &

Question Number : 55 Question Id : 9032014658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the currency of Kenya?

Options:

Euro

Dollar

Dirhams

Shillings
4.



Question Number : 56 Question Id : 9032014659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Who is the governor of Telangana state?

Options :
R.N.Ravi

L.Ganesan

Tamilisai Soundararajan
3.¢

Biswabushan Harichandran

Question Number : 57 Question Id : 9032014660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Where is the Maasai Mara National Reserve in Africa?

Options :

Sudan

Ethiopia



Kenya
3.¢¥

Guinea

Question Number : 58 Question Id : 9032014661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
UGC stands for

Options :

Union Government Control

University Grants Commission

University Governance Commission

Universal Governing Commission

Question Number : 59 Question Id : 9032014662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chancellor of Universities in Tamilnadu is



Options :

Education Minister

‘|. W

- Governor
Chief Minister

3. W

HRD Minister

Question Number : 60 Question Id : 9032014663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Who wrote the Book “Gandhi and Stalin™?

Options:

Raj Narayan

Louis Fisher
w

Anita Desai

Lal Bahadur Shastri



Question Number : 61 Question Id : 9032014664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Wings of Fire” was written by

Options :

R.K.Narayan

APJ Abdul Kalam
2. %

C.N.Annadurai

Hegde

Question Number : 62 Question Id : 9032014665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Who wrote the Book “Malgudi days™

Options:

Raj

R.K.Narayan
2.9



Chatterjee

Das

Question Number : 63 Question Id : 9032014666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PHI publishes from

Options :

Hyderabad

1. #

Chennai

Mumbai

New Delhi

4, &

Question Number : 64 Question Id : 9032014667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Competition Success Review is a

Options :
- Magazine

Newspaper

Journal

Catalogue

Question Number : 65 Question Id : 9032014668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following Presidents of India, who was also the Secretary-
General of Non —Aligned Movement for some period?

Options:

Dr.Sarvepalli Radhakrishnan

V.V.Giri

Giani Zail Singh
3. v



Dr. Shankar Dayal Sharma

Question Number : 66 Question Id : 9032014669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a drug/pharma company?

Options:

Chevron

Nicholas Piramal

2. %

3 % Pfizer
Zydus Cadila

4, %

Question Number : 67 Question Id : 9032014670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is the author of the book “The Audacity of Hope™?

Options :
Al Gore

1_%5



Barack Obama
2. %

Bill Clinton

Hillary Clinton

Question Number : 68 Question Id : 9032014671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, which one is not a football club?
Options :

Arsenal

Aston Villa

Chelsea

Monte Carlo

Question Number : 69 Question Id : 9032014672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The marine animal called dugong which is vulnerable to extinction is a/an

Options :

Amphibian

1. %

, % Bony Fish

3 % Shark

4V Mammal

Question Number : 70 Question Id : 9032014673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following South Asian Countries has the highest population
density?

Options:

1 India

Nepal

Pakistan

Sri Lanka



Question Number : 71 Question Id : 9032014674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The concept of carbon credit originated from which one of the following?
Options :
Earth Summit, Rio de Janeiro

1. %

, « Kyoto Protocal

Montreal Protocal
3. %

G-8 Summit, Heiligendamm
4. %

Question Number : 72 Question Id : 9032014675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who among the following is the founder of World Economic Forum?

Options :

1 Klaus Schwab

, % John Kenneth Galbraith

5 « Robert Zoellick



Paul Krugman

Question Number : 73 Question Id : 9032014676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Indira Gandhi Centre for Atomic Research, Kalpakkam is located in
Options :

Karnataka

. Tamil Nadu

- Andhra Pradesh

4« Kerala

Question Number : 74 Question Id : 9032014677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organizations is known as Market Regulator in India?

Options :
. » SEBI



AMFI

NSDSL

Question Number : 75 Question Id : 9032014678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Who composed India’s National Song?
Options:

Rabindranath Tagore
- Subhas Chandra Bose

Bankim Chandra Chatterjee
3. v

4 % Lala Lajpat Rai

Question Number : 76 Question Id : 9032014679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who was the British Governor —General of Free India?
Options :

Lord Louis Mountbatten



Lord T.B Macaulay

. Lord Wavell

4 % Lord Linlithgow

Question Number : 77 Question Id : 9032014680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The terms Lubb and Dubb related to which one of the following?
Options :

1.« Heart

Eyes

2. %

Teeth
3. %

. Lungs

Question Number : 78 Question Id : 9032014681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Sun Temple of Konark was built by Narasimhadeva |. To which dynasty
did it belong?



Options :
Soimavamsi dynasty

Imperial Ganga dynasty
2.9

Suryavamsi Gajapati dynasty

Bhoi dynasty
4, %

Question Number : 79 Question Id : 9032014682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which book was authored by Krishna Deva Raya?

Options :
1 = Mitakshara

Rajtarangini

2. %

3. % Karpoor Manjari

Amukta Malyad
W

Question Number : 80 Question Id : 9032014683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
National Library of India is in

Options :
1 » New Delhi

5 % Hyderabad

Kolkatta

Mumbai

Question Number : 81 Question Id : 9032014684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The first secretary — general of the United Nations was

Options :

1 % Dag Hammarskjold

Trygve Lie
2.9

U.Thant

Dr. Kurt Waldheim



Question Number : 82 Question Id : 9032014685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The Five Year Plan was first launched in

Options :
China

1. %

USSR

3 % India

4 » Bhutan

Question Number : 83 Question Id : 9032014686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The call for Garibi Hatao was incorporated in

Options :

4™ five year plan

51 five year plan
2.V

6™ five year plan



7t five year plan

Question Number : 84 Question Id : 9032014687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one the following directive principles was inserted by the Constitution
(42" Amendment) act, 19767

Options :

The State shall minimize inequalities in income

, « Equal justice and free legal aid

Promotion of cooperative societies

Provision for early childhood care
4, ®

Question Number : 85 Question Id : 9032014688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Deendayal Port is located in

Options :

Kerala
1. %



, « Gujarat

Maharastra

Goa

Question Number : 86 Question Id : 9032014689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following cities is associated with bio safety protocol to the
convention on biological diversity (2000)?

Options :
1 = Geneva

5 % Nairobi

3 ¢ Cartagena

Rio de Janeiro
4, ®

Question Number : 87 Question Id : 9032014690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Krishna Raja Sagar dam /Reservior was developed on



Options :
River Krishna

1. %
River Tungabhadra
River Godavari

4 River Kaveri

Question Number : 88 Question Id : 9032014691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following Indian States does not share international border
with two or more countries?

Options :
Arunachal Pradesh

1. %

Assam
2. %

Mizoram

Tripura
4, &

Question Number : 89 Question Id : 9032014692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
According to census of India, 2011, which among the following is the least
populated state in India?

Options :

1% Maharastra

Madhya Pradesh
2. %

Odisha

Punjab
4.

Question Number : 90 Question Id : 9032014693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where did Gandhiji initially forge the techniques of Satyagraha?

Options :
England

5 South Africa

North Africa

4 = India



Question Number : 91 Question Id : 9032014694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who is the President of Sri Lanka?
Options :

Ranil Wikramesinghe

Pramadasa

Mahinda Rajapakse

Wijitunge

Question Number : 92 Question Id : 9032014695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Dubai is a province of

Options :

Sultanate of Oman

> % Qatar

United Arab Emirates
3. v



4 % Kuwait

Question Number : 93 Question Id : 9032014696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Who is the Finance Minister of India?
Options :

Nirmala Sitaraman
P. Chidambaram
Mugarjee

., Subramanian Swamy

Question Number : 94 Question Id : 9032014697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in the increasing order of their size.
Karnataka,Kerala, Tamilnadu, Telangana

Options:

| @ Kerala, Telangana, Tamilnadu, Karnataka



5 % Kerala, Tamilnadu, Telangana, Karnataka

3 » Kerala, Telangana, Karnataka, Tamilnadu

Karnataka, Tamilnadu, Telangana, Kerala

Question Number : 95 Question Id : 9032014698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Minister of Telangana state?

Options :
1 » Chandrababu Naidu

5 % Jagan Mohan Reddy

Vijayashanthi

3. %

Chandrasekhar Rao
4.

Question Number : 96 Question Id : 9032014699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following won the women'’s singles title of the Australian Open
Tennis championship 20227



Options :

Naomi Osaka
1. %

» Serena Williams

Venus Williams

4 % Ashleigh Barty

Question Number : 97 Question Id : 9032014700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is associated with WikiLeaks?
Options :

Julian assange

1. %

Edward Snowden

2. %

Mark Zuckerberg
3. %

Oscar Pritorius
4. ®

Question Number : 98 Question Id : 9032014701 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Budhacharita was written by

Options:
Amarashimha

Bhasa

3 % Virasena

4 Ashwaghosha

Question Number : 99 Question Id : 9032014702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is not caused by a virus?

Options :

Ebola

Malaria

Rabies



Yellow fever

Question Number : 100 Question Id : 9032014703 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Simuka was the founder of which dynasty?

Options :

Pallava

. Satavahana

; » Rashtrakuta

Huna



